5-1 Trigonometric Identities

22.

23.

24.

25.

26.

27.

28.

29.

Simplify each expression.
CSC x sec x —tan x

ANSWER:

cot x

CSC X —CoSx cotx

ANSWER:

Sm x

sec x cotx —sin x

ANSWER:

COS x cot x

tan ¥ +sin xysec x
csc xtan x

ANSWER:

2sinx

l—sinzx

cscjx —1

ANSWER:

sin? x
csoxcosxy 4 cotx
secxcot x

ANSWER:

2 Ccos x

secxcscxy —fan x
SEC XCSCX

ANSWER:

COS2 X

SECEX

cotjx +1

ANSWER:

tan2 X
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5-1 Trigonometric Identities

30. cot x — csc? x cot x

ANSWER:

—co‘[3 X
31. cot x — cos> x ¢sc x

ANSWER:

sin x COS x

Simplify each expression.
cosx cosx

32. secx+1 secx —1

ANSWER:

2 cot? x

l—cosx si0 X
33, tan x 14+cosx

ANSWER:

Sm x

1 1
34, secx+1 + secx—1

ANSWER:

2 cotx csc x

cosycot x 21 X
35. secx+tan x sec ¥ —tan x

ANSWER:

cot x — cos x + tan x + sin x tan x

i X i X

36. cscx+1 cscx—1

ANSWER:

2 tan? x

Rewrite as an expression that does not involve a fraction.
38. 51X
cscx —eot x

ANSWER:
1 +cosx
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39.

40.

41.

42.

43.

44.

45.

46.

osC X
l—sinx

ANSWER:
sec? x (cscx+1)

cot x
secx —tan x

ANSWER:

cscx+1

cot x
1+sinx

ANSWER:

secx (cscx—1)

Stan x
1—cosx

ANSWER:

3cscx(secx+1)

2810 X
cotx +escx

ANSWER:

2—2cosx

51N X
1—szecx

ANSWER:

—cotx (cosx +1)
2
col®xcosx
csox —1
ANSWER:

cosx (cscx+1)

3
secxy +1

ANSWER:

SCotzx(secx—l)
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5-1 Trigonometric Identities

47 sin xtan x
cosx +1

ANSWER:

secx—1

Write each expression in terms of a single trigonometric function.
51. tanx — csc x sec x

ANSWER:

—cot x

52. cos x + tan x sin x

ANSWER:

S€C X

53. csc x tan® x — sec? x csc x

ANSWER:

—CcSc x
54.sec x ¢csc x — COS X CSC X

ANSWER:

tan x
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